LV.F-AS-SST-VD il 2

Bk - AHRR

clesa TOHATSU

@ 65 oA ()

d
#
I i Rl
L \i J
-
=l - iT\Uj/r
!
—
= g .
L 1]
d2
L dl
D
JREE 1242 k]
ME B ME |ME| BE
PA+I# | B | SUS304 | NBR | E§EKATO
=X Hut D|d|dl|L|[L1| 1l |11|d2]|h|hl]|Ss *fg%:f%gﬁ% Ef B
186301 | LV.F-80-14-AS-SST-M8x43-VD 80 M8 | 54| 76] 79| 43]33[85[24 2314 14 | 16000 | 112 ] &
186303 | LV.F-80-14-AS-SST-M8x68-VD 80 |M8 | 54 |101]104] 68|33 8524 23|14 14 | 16000 | 124 | ~
186311 | LV.F-80-14-AS-SST-M10x43-VD | 80 |M10| 54 | 76| 79| 43|33 85|24 |23 | 14| 14 | 16000 | 121 | A
186313 | LV.F-80-14-AS-SST-M10x68-VD | 80 |M10| 54 |101|104| 68|33 |85|24 |23 | 14| 14 | 16000 | 134 | A
186315 | LV.F-80-14-AS-SST-M10x98-VD | 80 |M10| 54 |131]134| 98|33 [85|24 | 23| 14| 14 | 16000 | 148 | A
186321 | LV.F-80-14-AS-SST-M12x43-VD | 80 [M12| 54 | 76| 79| 43|33 85|24 | 23| 14| 14 | 16000 | 131 | ~
186323 | LV.F-80-14-AS-SST-M12x68-VD | 80 |M12| 54 |101]104| 68|33 [85|24 |23 | 14| 14 | 16000 | 149 | A
186325 | LV.F-80-14-AS-SST-M12x98-VD | 80 |M12| 54 |131]134| 98|33 [85|24 |23 | 14| 14 | 16000 | 171 | ~
186331 | LV.F-80-14-AS-SST-M14x68-VD | 80 |M14| 54 |101]104| 68|33 [85|24 | 23| 14| 14 | 16000 | 172 | ~
186333 | LV.F-80-14-AS-SST-M14x98-VD | 80 |M14| 54 |131]134| 98] 33 85|24 | 23| 14| 14 | 16000 | 193 | ~
186335 | LV.F-80-14-AS-SST-M14x148-VD | 80 |M14| 54 | 181|184 |148|33 | 85|24 |23 | 14| 14 | 16000 | 276 | A
186341 | LV.F-80-14-AS-SST-M16x68-VD | 80 |M16| 54 |101]104| 68|33 [85|24 |23 | 16| 14 | 16000 | 194 | A
186343 | LV.F-80-14-AS-SST-M16x108VD | 80 |M16| 54 |141[144|108] 33 [ 85|24 | 23| 16| 14 | 16000 | 248 | ~
186345 | LV.F-80-14-AS-SST-M16x148VD | 80 |M16| 54 | 181|184 |148] 33 [ 85|24 | 23| 16| 14 | 16000 | 301 | ~
186347 | LV.F-80-14-AS-SST-M16x168-VD | 80 |M16| 54 [201]204|168| 33 [85|24 |23 | 16| 14 | 16000 | 328 | A
186351 | LV.F-80-24-AS-SST-M16x58VD | 80 |M16| 54 | 101|104 58|43 | 85|24 |23 | 24 | 24 | 18000 | 256 | &
186353 | LV.F-80-24-AS-SST-M16x98-VD | 80 |M16| 54 | 141|144 | 98| 43 [ 85|24 | 23 |24 | 24 | 18000 | 308 | ~
186355 | LV.F-80-24-AS-SST-M16x138-VD | 80 |M16| 54 | 181|184 |138] 43 [ 85|24 | 23 | 24| 24 | 18000 | 359 | ~
186357 | LV.F-80-24-AS-SST-M16x158-VD | 80 |M16| 54 |201|204|158| 43 | 85|24 |23 | 24 | 24 | 18000 | 387 | A
186361 | LV.F-80-24-AS-SST-M20x98VD | 80 |M20| 54 | 141|144 98|43 | 85|24 |23 | 24| 24 | 18000 | 380 | &
186363 | LV.F-80-24-AS-SST-M20x138-VD | 80 |M20| 54 |181[184|138] 43 [ 85|24 | 23|24 | 24 | 18000 | 460 | ~
186365 | LV.F-80-24-AS-SST-M20x158-VD | 80 |M20| 54 [201[204|158] 43 [ 85|24 | 23 | 24 | 24 | 18000 | 500 | ~
186367 | LV.F-80-24-AS-SST-M20x198-VD | 80 |M20| 54 | 241|244 |198| 43 | 85|24 | 23 | 24 | 24 | 18000 | 585 | A
186371 | LV.F-80-24-AS-SST-M24x98VD | 80 |M24| 54 | 141|144 98|43 | 85|24 |23 | 24| 24 | 18000 | 480 | A
186373 | LV.F-80-24-AS-SST-M24x158-VD | 80 |M24| 54 [201]204|158] 43 [ 85|24 | 23 |24 | 24 | 18000 | 655 | A
186375 | LV.F-80-24-AS-SST-M24x198-VD | 80 |M24| 54 [241(244|198] 43 [ 85|24 | 23 |24 | 24 | 18000 | 776 | ~




LV.F-AS-SST-VD Bz elesa TOHATSU

Bk - AHRR

B tmae| i =
ek it D d|di|L|L1| 1 |11/d2| h|h1ls %ﬁ? f&gﬁ Ef
186401 | LV.F-100-14-AS-SST-M8x43-VD 100|/M8 | 70 | 76| 79| 43| 33 125/ 24 | 23| 14 14 18000 148
186403 | LV.F-100-14-AS-SST-M8x68-VD 100|/M8 | 70 | 101|104 | 68| 33 |12.5| 24 | 23 | 14 14 18000 160
186411 | LV.F-100-14-AS-SST-M10x43-VD | 100|M10| 70 | 76| 79| 43| 33 |12.5| 24 | 23 | 14 14 18000 157
186413 | LV.F-100-14-AS-SST-M10x68-VD | 100 |M10| 70 | 101|104 | 68| 33 |12.5| 24 | 23 | 14 14 18000 169
186415 | LV.F-100-14-AS-SST-M10x98-VD |100|M10| 70 |131|134| 98| 33 [12.5| 24 | 23 | 14 14 18000 183
186421 | LV.F-100-14-AS-SST-M12x43-VD |100|{M12| 70 | 76| 79| 43| 33 [12.5| 24 | 23 | 14 14 18000 167
186423 | LV.F-100-14-AS-SST-M12x68-VD | 100|M12| 70 | 101|104 | 68| 33 |12.5| 24 | 23 | 14 14 18000 184
186425 | LV.F-100-14-AS-SST-M12x98-VD | 100 |M12| 70 |131|134| 98| 33 |12.5| 24 | 23 | 14 14 18000 205
186431 | LV.F-100-14-AS-SST-M14x68-VD |100|{M14| 70 |101|104| 68| 33 [12.5| 24 | 23 | 14 14 18000 206
186433 | LV.F-100-14-AS-SST-M14x98-VD |100|M14| 70 |131|134| 98| 33 [12.5| 24 | 23 | 14 14 18000 227
186435 | LV.F-100-14-AS-SST-M14x148-VD | 100 |[M14| 70 | 181|184 |148| 33 |12.5| 24 | 23 | 14 14 18000 310
186441 | LV.F-100-14-AS-SST-M16x68-VD | 100 |M16| 70 | 101|104 | 68| 33 |12.5| 24 | 23 | 16 14 18000 228
186443 | LV.F-100-14-AS-SST-M16x108-VD | 100 |[M16| 70 | 141|144 |108| 33 [12.5| 24 | 23 | 16 14 18000 280
186445 | LV.F-100-14-AS-SST-M16x148-VD | 100 |[M16| 70 | 181|184 |148]| 33 |12.5| 24 | 23 | 16 14 18000 332
186447 | LV.F-100-14-AS-SST-M16x168-VD | 100 |[M16| 70 | 201|204 |168| 33 |12.5| 24 | 23 | 16 14 18000 358
186451 | LV.F-100-24-AS-SST-M16x58-VD | 100 |M16| 70 | 101|104 | 58| 43 |12.5| 24 | 23 | 24 24 25000 314
186453 | LV.F-100-24-AS-SST-M16x98-VD |100|M16| 70 | 141|144 | 98| 43 [12.5| 24 | 23 | 24 24 25000 366
186455 | LV.F-100-24-AS-SST-M16x138-VD | 100 |[M16| 70 | 181|184 |138| 43 [12.5| 24 | 23 | 24 24 25000 417
186457 | LV.F-100-24-AS-SST-M16x158-VD | 100 |[M16| 70 | 201|204 | 158 | 43 |12.5| 24 | 23 | 24 24 25000 445
186461 | LV.F-100-24-AS-SST-M20x98-VD | 100 |[M20| 70 | 141|144 | 98| 43 |12.5| 24 | 23 | 24 24 25000 438
186463 | LV.F-100-24-AS-SST-M20x138-VD | 100 |[M20| 70 | 181|184 |138| 43 [12.5| 24 | 23 | 24 24 25000 518
186465 | LV.F-100-24-AS-SST-M20x158-VD | 100 |M20| 70 | 201|204 |158| 43 [12.5| 24 | 23 | 24 24 25000 558
186467 | LV.F-100-24-AS-SST-M20x198-VD | 100 |[M20| 70 | 241|244 |198| 43 |12.5| 24 | 23 | 24 24 25000 643
186471 | LV.F-100-24-AS-SST-M24x98-VD | 100 |M24| 70 | 141|144 | 98| 43 |12.5| 24 | 23 | 24 24 25000 538
186473 | LV.F-100-24-AS-SST-M24x158-VD | 100 |M24| 70 | 201|204 |158| 43 [12.5| 24 | 23 | 24 24 25000 713
186475 | LV.F-100-24-AS-SST-M24x198-VD | 100 |[M24| 70 | 2412441198 | 43 |12.5| 24 | 23 | 24 24 25000 834
186501 | LV.F-125-24-AS-SST-M16x58-VD | 125|M16| 95 | 125|128 | 58| 67 [12.5]| 46 | 23 | 24 24 28000 524
186503 | LV.F-125-24-AS-SST-M16x98-VD | 125|M16| 95 | 165|168 | 98| 67 |12.5| 46 | 23 | 24 24 28000 576
186505 | LV.F-125-24-AS-SST-M16x138-VD | 125 |M16| 95 | 205|208 |138| 67 [12.5]| 46 | 23 | 24 24 28000 627
186507 | LV.F-125-24-AS-SST-M16x158-VD | 125 |M16| 95 | 225|228 |158| 67 [12.5| 46 | 23 | 24 24 28000 655
186511 | LV.F-125-24-AS-SST-M20x98-VD | 125|M20| 95 | 165|168 | 98| 67 [12.5]| 46 | 23 | 24 24 28000 648
186513 | LV.F-125-24-AS-SST-M20x138-VD | 125 |[M20| 95 | 205|208 |138| 67 |12.5| 46 | 23 | 24 24 28000 728
186515 | LV.F-125-24-AS-SST-M20x158-VD | 125 |M20| 95 | 225|228 |158| 67 [12.5| 46 | 23 | 24 24 28000 768
186517 | LV.F-125-24-AS-SST-M20x198-VD | 125 |M20| 95 | 265|268 |198| 67 [12.5| 46 | 23 | 24 24 28000 853
186521 | LV.F-125-24-AS-SST-M24x98-VD | 125|M24| 95 | 165|168 | 98| 67 [12.5]| 46 | 23 | 24 24 28000 748
186523 | LV.F-125-24-AS-SST-M24x158-VD | 125 |[M24| 95 | 225|228 | 158 | 67 |12.5| 46 | 23 | 24 24 28000 923
186525 | LV.F-125-24-AS-SST-M24x198-VD | 125 |[M24| 95 | 265|268 |198| 67 |12.5| 46 | 23 | 24 24 28000 | 1044

s I3 T 528
- EARE  -30°C~100°C 186301
- BEEMELCHEFLAN M E R - AT ARFLEEREEZ2RE]L)

=
2t

o D o D e o I D o o e e o e e e o o e e e e e e N R e o E o N R N e o o o

ok

BAEE

- FARAL 5005 85 PARUAY > R¥ & FDA IZ#E(FDA CFR.21 A1 EU 10/2011) » &
BAREmTE  ERAAREIBERSR  BRES

- BIBRNEEASERNEE L

WA PEFY

CIIRBE EREAFETE - P e ERURERA

- WPIIEERAR TS o R (R EE) RAER 64 - AR BT
- BIERERIEE

R BRIRER



